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1. My brother was placed second in the competition .................. .

1) whereas I got the first prize 2) since I tried hard in that field
3) as I was getting my medal 4) while running is my favorite sport
2.1 always watch my favorite program ..........c.... having my dinner.
1) because 2) while 3) whether 4) as
3. Memorization is a method in Japanese schools, ..........cc...... , the Canadian students learn to think
on their own.
1) however 2) since 3) when 4) otherwise
4. Several probes were sent into Space .........cceeeuee. bring back samples of rock for research purposes.
1) so that 2) in order to 3) so as not to 4) for
5. We left the meeting early .................. miss the last train.
1) in order for 2) in order to not 3) so that 4) so as not to
6. Why don't you start out early ........cceuce.. you don't have to hurry?
1) so that 2) because of 3) in order to 4) in order for
7. The blood .................. were sent to the laboratory for analysis.
1) vessels 2) injuries 3) samples 4) aspects
8. The government should take action to reduce the .................. of the population in this area.
1) exploration 2) density 3) sample 4) era

9. Nutritionists believe that some food products aren’t of very high .................. .
1) until 2) mission 3) quality 4) mass

10. An organized series of actions for getting something is called ..................

1) guarantee 2) strategy 3) union 4) estimation
11. Seventy percent of the country's population depends on .................. for most of its income. This
country is not still industrialized.

1) agriculture 2) apprenticeship 3) server 4) community
12. The committee didn’t .........ccc.... how long such a project would last.

1) develop 2) estimate 3) construct 4) discipline

Wages, or salaries as they are also called, are payments by employers to their employees in return for

work. Sometimes they are ......... (A)ssisssas on time — the worker being paid at a rate of so much an
hour or so much a week, and sometimes they are paid for the ........ (B).coveeeeee produced — a shirt
maker, for example, is being paid so much for every shirt made. Wages are paid in money, but
sometimes they (90) ........ (Csssossanss - payments in kind, as when a caretaker is provided with a rent-
free house. This type of payment is ........ (1)) JUSon controlled by law, ...... (E)eerveennnes the worker is
protected against a bad employer who might try to pay all or nearly all this wage in kind.
13. (A)

1) passed 2) crossed 3) based 4) awarded
14. (B)

1) individuals 2) sources 3) features 4) articles
15. (O)

1) devote 2) require 3) include 4) influence
16. (D)

1) socially 2) strictly 3) straightly 4) similarly
17. (E)

1) for 2) so that 3)so as 4) in order to




It is thought to be inappropriate if a child below a certain age works, except housework, school work
or agricultural- based work. An employer is often not allowed to hire a child below a certain age. This
minimum age depends on the country, such as in the United States, where the minimum age to work in
a place without the parent's agreement and limitation is age 16.

Other forms of work include helping in the parents business or having one's own small business,
either selling small items or doing unusual jobs. Some children work as a guide for tourists, sometimes
combined with working for owners of shops and restaurants, bringing tourists to these businesses.
More forms of "that'" include child actors and child singers.

According to a UNICEF study it is a false belief that most child labor is seen in shops that send goods
to the rich countries. Most child labor is in the "informal places", selling on the streets, at work in
agriculture or hidden away in houses- far from police and the eyes of TV and radio.

18. What is the main idea of this passage?

1) The i Je ofichildiren in rich
) The important role of children in ric 2) Jobs that are done at home by children.

countries.

3) Child labor and its different forms. 4) Summer jobs for children.
19. What does the underlined word "that'" refer to?

1) The belief about working children 2) Age of working children

3) Children workplace 4) Child labor

20. All of the followings are true EXCEPT:
1) Most children do not work formally.
2) Washing the dishes at home is child labor.
3) Child labor is different from one country to another.
4) Children over 16 can work without their parents permission in the United States.
21. According to the passage UNICEF has shown that ..................
;;;:;St cutldeenworksmitoriallyn hdden 2) child labor is a good business for governments.

3) child labor isn’t allowed by the government.  4) child labor isn’t harmful for the society.

Until a couple of years ago. Mars has always been the top candidate for a planet other than Earth
where life might be found, what if Mars disappoints us? Are there other candidates in the solar
system?

The answer is yes, and the next-best shot at finding extra-terrestrial life forms is on Europa, a moon
of the planet Jupiter.Right now, there is no other body in the solar system that attracts as much
scientific attention as this bright strange-looking moon, the smallest of Jupiter’s four large satellites.
These satellites (as you would approach them moving outward from Jupiter) are Io. Europa
,Ganymede and Callisto.

Europa seems like a good bet. Life might be a bit strange, but perhaps not a lot stranger than the life
from recently found around hot vents in the abyssal ocean. Liquid water and sources of energy are the
essential prerequisites for life. Europa might well have them. Strong tidal heat could keep the inside
of Europa warm enough to have liquid water beneath a layer of ice. Therefore, any organic
compounds would be mobile, in water. They could interact.

22. Which of the following questions is the one which the passage is mainly concerned with?
1) What are the features of Jupiter?

2) What are the similarities between the Moon and Europa ?

3) Why do scientists think Mars is unlikely to have intelligent life?

4) Where else in the solar system (except earth and mars) is life likely to exist?

23. Of Jupiter’s four satellites, which one is the farthest to this planet?

1) Io 2) Callisto 3) Europa 4) Ganymede
24. Of the words used in the passage, which one can replace the word "bet" in paragraph 3?
1) life 2) satellite 3) candidate 4) attention

25. Why dose the author mention the word "ocean” in paragraph 3?

1) to give us a better sense of what possible life forms on Europa look like

2) to indicate the similarities between the conditions on earth and those on Jupiter

3) to prove that the water needed for life to originate can be found in some parts of the solar system.

4) to discuss the reason why life forms on planets other than earth would essentially be strange in form.
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